DOPPELT 27139900
KONZENTRATION

1244 - 812 - 38=
1258+1622=
1788 - 778 - 91=

299+401+519=
9009+1001+2003=
77+193+809=

4555+985=
11589 - 1254 - 1096=

2905 - 855=
3378 -99 - 101=
1713+267+481=

5444626 - 23=
10260 - 1870 - 371=

10099+341+7004=
3498 - 2481 - 419=
6762 - 4613 - 142=

Lise als Kopfrechenaufgaben!
Bei richtiger Lasung findest du die Ergebniszahlen

im Zahlenblock versteckt.

t 93 1 7 8 3 04 7
6 7 05 0 2 8 1 5 6
4 057 9 8 969 0
21 01 21 8 2 3 9
3 07 1 2 8 6 0 3 3
215 4 4 01 219
3277 9 45 40 9
6 0 4 4 3 5 6 50 4
91 92 458 8 9 5
7 39 07 40 3 6 8
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Umkringele
die
Losungs-
zahlen!!

W.BIERMANN, 9/00




1244-812-38= 394
1258+1622= 2880
1788-778-91=919
299+401+519=1219
9009+1001+2003=12013
77+193+809= 1079
4555+985= 5540
11589-1254-1096=9239

2905-855= 2050
3378-99-101= 3178
17134+267+481=2461
544+626-23= 1147
10260-1870-371=8019
10099+341+7004= 17444
3498-2481-419=598
6762-4613-142=2007
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